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401 AlZHIZL SO 40,357 0 40,357
= 28,250
== 3,632
[Ea 8,475
01 Al&HI 40,357 0 40,357
Ot =31X |2t 40,357,000 40,357
= 28,250
=S 3,632
s 8,475
sXxd & 2 5,083,239 8,150,111 A3,066,872
< 1,222,614
s 3,860,625
2= A2l 270,000 250,000 20,000
401 AIZHIZ SO 270,000 230,000 40,000
01 Al&HI 270,000 230,000 40,000
Otz &% 180,000
SHUR(S4E) 30,000,000 30,000
2UR(SEE) 20,000,000& 20,000
-S™YLIR(A01H) 20,000,000 20,000
-HEUR(SHAE-HSESIZ2 1,360F)
80,000,000& 80,000
-JIEDtZ = 30,000,000 30,000
Otz 2tel 90,000
SDAS Y 2AE TIEHS M
30,000,000& 30,000
2018 =AM & 2z
30,000,000& 30,000
-HIEF0| & g=5F, W0t MA
30,000,000& 30,000
S4E il A 789,159 3,257,357 A\2,468,198
101 @124H| 57,249 55,357 1,892
M ORNZZ2NSE S 57,249 55,357 1,892
OStz Xz oy 57,249
-20f 78,8802 * 3% * 2162 51,115
Asl e JlBRea
51,115,000 * 12% 6,134
201 =3 12,500 26,000 13,500
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g 8) 6,000,000 6,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ostiz =oEHs el
100,000 * 15002 1,500
401 AIZHIX R0 719,410 3,176,000 N\2,456,590
01 AlZH| 700,000 3,110,000 A2,410,000
OSUZ (R84 S PHA) M==AY
200,000& * 100km * 13 20,000
OSatz SXZel(2L SAZ 150H2)
2,000,000& * 15002 30,000
Ot A (S LH, A HIWZ , 52
H0l) Xz 10,000,000& * 5JH A 50,000
OdsSH+A =2 TEAE
500,000,000 500,000
OS4 g S22 ZHIMY
20,000,000 20,000
O=g 28 Stz SHIMY
20,000,000& 20,000
O3y Wit S&Z ALY
20,000,000 20,000
Oaty OrolAt Satz A
20,000,000 20,000
OZF= 22t SN2 ZHIAY
20,000,000& 20,000
02 Zcltl 15,000 60,000 /45,000
OSttz gl & =dIZ 2dAE &eltl
15,000,000& 15,000
03 Al 20HHI 4,410 6,000 21,590
S¢Z dHl & Sl M AMIERH
]l 4,410,000 4,410
SAIE2 & OIZ23E /X2t 414,841 497,751 /82,910
101 @124H| 171,745 124,551 47,194
04 JIZtNZ2 2N S+ 171,745 124,551 47,1%4
OEAIZ2 & Jt25tH 2e| o1FY 171,745
-=20 78,8803 * 8% * 243% 153,343
-AlRl2E JI2RYs
163,343,000 * 12% 18,402
201 Ler23 | 41,800 41,200 600
01 At2teltl 21,800 21,200 600
O=AIZ2 & Jt2stH 228 Xt gz
900,000& = 1CH = 123 10,800
O=AIZ2 & JtZ2stHE S0 & o2t
o 1,000,000& 1,000
OEAIZ2 & Jt2stH 22l M+
10,000,000 10,000
2 s5=34l 20,000 20,000 0
O ZHI(M=I1,21H8) |FXZ2=H]
4,000,000 4,000
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10,000,000 10,000
O=AIZ2 & It2stH RA2CUE X =
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206 M=l 20,000 30,000 10,000
01 M= HI 20,000 30,000 10,000
O=AZ2 & JiZ2std £dE X L 3
=5 & 7Y 10,000,000 10,000
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e 10,000,000 10,000
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OFAZ2 248X & Iot25tH 24 & &
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OJt=2stet |22l Al 70,000
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101 @1A4H| 262,827 274,069 A1,242
04 JIZtNZ22 XS 2+ 262,827 274,069 A11,242
ORZxd =Y 262,827
20 78,880 * 108 » 2164 170,381
-ABIEE JI2RES
170,381,000 * 12% 20,446
-OHSH(AS2E J|22E2 28
8,000,000& * 9HSH 72,000
201 et 3| 18,800 19,800 1,000
01 AtR2tc|Hl 13,300 13,800 A500
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ABHEMAE] S) 4,000,000 4,000
Oo%Z el 100,000& = 32 300
ORZxd 2| NS
900,000 * 1CH » 10 9,000
02 S3=gHl 5,500 6,000 A500
OZZ X4 22l 1 |74l
4,000,000 4,000
ORZXEE St RA2cl|
1,500,000 = 1CH 1,500
202 04t 8,424 9,600 A1,176
01 =LHNHI 8,424 9,600 A1,176
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OsXEd g2F8 o 8,424,000& 8,424
206 M=l 146,000 150,000 24,000
01 MZH| 146,000 150,000 24,000
Ol tHFE 2R 244l
22,000,000& = 3AH&E 66,000
OZZXH M2 FUHI(ZL,8Hl, 72,32
DB E) 80,000,000 80,000
401 Al HIZL 01| 110,000 98,000 12,000
01 Al&H| 106,000 94,000 12,000
OPHEY Z2ZXEX 2| EF &Al
10,000,000& * 6IH A 60,000
OBLATA =¥ HEXS
100,000& = 70km * 32l 21,000
OSH=EM S | ey
25,000,000 25,000
03 Al 2 CHHI 4,000 4,000 0
OFZ2d dHl Ex= 4,000,000& 4,000
ZEE FAl2c 206,809 239,069 N32,260
101 @1A4H| 128,809 166,069 N37,260
04 JIZtNZ22 XS 2+ 128,809 166,069 A37,260
OZR%E |2 Y 128,809
20 78,8803 * 6& * 243% 115,008
-ABIEE JI2RES
115,008,000 * 12% 13,801
201 er2 3| 18,400 15,000 3,400
01 AtR2telHl 5,840 3,840 2,000
OREY H2E3 78
240,000& * 128 2,880
OZRE ZeIM E=D| SRz
40,0008 = 200 » 128 960
OAB4d Xl 2| 2,000,000& 2,000
2 s5=34l 12,560 11,160 1,400
O=R&E =9 12,560
-22E dJIes 500,000& = 128 6,000
-HIOIEAIE EHl RXIE=HI
2,000,000 2,000
-2EY 2 22 A AIEE FAE2H]
200,000& * 1HA + 128 2,400
+ER3 60,0008 = 123 720
QI AIE= 60,000& » 123 720
-gs sz 60,000& » 123 720
206 M=l 51,600 50,000 1,600
01 MZH| 51,600 50,000 1,600
O2=2% 29 Mg ¢ 51,600,000& 51,600
401 AIEHIX S0 8,000 8,000 0
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OZR%E dt*A HiE UM & B
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03 AIZ S THYI 2,000 2,000 0
OREH ZHILX 2,000,000 2,000
22 R 71,497 51,490 20,007
101 eI24d| 42,937 42,418 519
M ORNZZ2NSE S 42,937 42,418 519
OLRE 29 ol 42,987
= 78,8802 * 28 * 2432 38,336
GBI
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201 fer=3| 3,600 3,600
01 AtR2t2|H] 1,200 1,200
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2 S5=2g4l 2,400 2,400 0
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1,600,000 1,600
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01 M=4l 4,960 5,472 Ab12
OdEY 238 NE7L 4,960
-/l 7,0008 * 240 * 23 3,360
-HlE 20,0003 = 40 * 23 1,600
401 Al HIZ S 0HbI 20,000 20,000
01 Al&H| 20,000 20,000
LEE == 0IASA 20,000,000 20,000
Lict® 32t 54 & 294Xl 2l 13,300 10,800 2,500
206 M=l 2,500 0 2,500
01 M=4l 2,500 0 2,500
Of=3t 23t 7 250,000 = 107K 2,500
401 Al HIZL S 0HYI 10,800 10,800
01 Al&HI 10,800 10,800
OSY 233t |A22U(EHDII, 8F )
1,200,000% * PHSH 10,800
Lict2 Rz |54 N 4,770 5,000 A230
= 1,400
o 3,370
206 M=l 1,870 2,100 A230
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= 1,343
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o 707
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Ea 16,705
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- =4 600,000 600
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Oo®IIRZ 400,000& * 123 4,800
@Frskoisa= 10,000& * 123 120
Oy & TVvedlzm 40,000& = 12& 480
O3 40,000& = 12& 480
OZelg ZHl |XHl ¥ |RF4I
00,0008 * 113] 1,100
OTHMAIZY ST 4
200,000& = 10& 2,000
206 =4l 3,300 7,000 A3,700
01 =l 3,300 7,000 A3,700
OXHMA 2 FX 2l Mg P
300,000 * 113 3,300
401 A& BIZ20HbI 51,542 51,542
01 Al&Hl 51,542 51,542
ORMASE 25 =7 H
51,542,000 51,542
405 XHeHE S| 550 550
01 IR =S FSHI 550 550
Ol 7 550,000 = 1CH 550
SAAE KXl 342,120 349,920 AT,800
201 B2 AL| 205,620 204,420 1,200
01 ArR2eltl 164,200 159,400 4,800
O==&ZMZ 300,000& * 414 » 43| 4,800
OS+43 ¥4 42 14,000
O AT B o AT
6,000,000& 6,000
~SHOF KO H R, AT T 8,000, 0002 8,000
O+XHEIAL(HEIE) |T2L 42,960
Ol A Tl B R 2T A
800,000 = 12& 9,600
“HOFAI S e A E
1,500,000& » 12& 18,000
—~HO=2 320,000& = 1238 3,840
oI 2B S
320,000& * 123 3,840
-NHHAISR 320,000& = 12& 3,840
—2otHlel DS AtE =T
320,000 = 123 3,840
OfELH B 21,960
Ol ATl B R 2T A
9,000,000& 9,000
“HOFAI S e A E 12,000,000 12,000
OIS 23 ME & 960,000& 960
OMEF2ZAIE 2= ME
8,000,000& = 14! 8,000
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—olSlM S oY HEE
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HOPAAF S, HEH
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S OFR T2 51 R & &
400,000& = 123 4,800
-Ada =R 200,000 = 122 2,400
-LAHCIOSAESE
300,000 = 128 3,600
OZHI0IXl FAlI2cH|
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O=S2ATY HIYBAILYE AESRE
55,0003 » 1200 + 128 7,920
OgNILR S4ALAAY
100,000& » 53 500
202 04| 12,000 9,000 3,000
01 SLHoIH 12,000 9,000 3,000
Ot ZZAIZ 2] 28 0l
12,000,000 12,000
401 A& HIX R0 124,500 136,500 A12,000
01 AlZH| 117,000 129,000 212,000
O&XEE - NE=HY 93,000
—dloM S S BEEY
6,000,000& * 32l 18,000
ORI B O M
15,000,000& * 33l 45,000
-Sor==2 5,000,000& * 32l 15,000
-LAHCIOESMESE
5,000,000& * 32 15,000
Ot s 2AIE 2==H|
4,000,000& *» 6902 24,000
03 Al 2CHYI 7,500 7,500 0
IS x= 500,000& * 153] 7,500
=0l &2 58,668 57,332 1,336
= 29,334
= 20,534
= 8,800
307 elztol & 58,668 57,332 1,336
= 29,334
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UM THASLE EClotRA ZEAY 250,000 0 250,000
401 Al HIZL 201 250,000 0 250,000
01 Al&HI 240,000 0 240,000
OxQMTIBA ERI5I2A TA AL
ul 240,000,000 240,000
02 Zcltl 8,500 0 8,500
O==di2atitz2d EcloteA &4 Zel
] 8,500,000& 8,500
03 Al 20HHI 1,500 0 1,500
O=cllojttitg sty EclotA I8 Ald
Sl 1,500,000& 1,500
AH2LIH(AE =X 36,298 34,235 2,063
Jl2dl (A=) 36,298 34,235 2,063
JI23Hl 36,298 34,235 2,063
201 =3 29,338 27,035 2,303
01 At22t2lt] 27,446 25,143 2,303
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O=gH| 8,640,000 8,640
OSsgJl gtz 300,000& = 1CH = 123 3,600
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